y = K,                                        y´ = 0;

y = xa,                                       y´ = axa−1;

y = sin x,                                   y´ = cos x; 

y = cos x,                                  y´ = −sin x;
y = tanx,                                    y´ = 1/ cos2 x; 
y = arcsin x,                              y´ = 1/     
y = arccos x,                             y´ = 
y = arctan x,                              y´ = 1/(1 + x2);
y = loga x,                                  y´ = (1/x) loga e; 
y = ln x,                                     y´ = (1/x);
y = ax,                                        y´ = ax ln a; 
y = ex,                                        y´ = ex;
y = uv,                                        y´ = vuv−1u´ + uvv´ ln u;
y = sh x,                                    y´ = ch x;
y = sh x,                                    y´ = sh x;
y = th x,                                             y´ = 1/ch2x; 
